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~ Predicting Population Growth . 234 -241)

I. Fertility Rate
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' 234 1. Factors that affect human population growth are wsiike most other organisms.

Circle One : True

2. Define the term total fertility rate.
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3. Identify the following total fertility rates of women. (Not in the book.)

Developed Countries - 1.6 ctildeen Developing Countries - 3.0 children
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4. List three reasons why women are having fewer children (globally).
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5. What is the replacement fertility rate for most nations? & ¢ ( C‘m 'Q"e b

II. Age Structure & Sex Ratios

:)_36\\ 1. What are challenges faced by countries like Canada (0.4% growth) and Madagascar
P ' (2.9% growth)?
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2. Slightly more human males are born than human females.

Circle One : False

Why?
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III. The Demographic Transition

1. Define the term demographic transition.
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2. Identify the stages of demographic transition.

1. |ﬂf‘€ _.I f\g wT +e0 7\( - Birth rate is high due to no family planning methods
- Death rates high due to disease, poor health care
- Population size is stable

p i e 0 'RU N~ ( - Deaths rates decline as health care & food improves
- Birth rates are still high (no response to change)
- Population explosion occurs

3. I\ &w_f"\f(o\.& - Birth rate becomes close to death rate
(Women employed outside of home)
- Population growth slows

4, QQU i‘ "T‘,—\ ﬂ M\‘r \ J - Birth rate drops below replacement level
(Economic strains restrict birth rate)
- Population size decreases (but still high)

IV. Social Factors

1. Identify the differences between developed and developing countries & give examples.
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2. Compared to developed nations, developmg countries have which of the following?

Fertility Rates @ Lower Infant Mortality Rates : @ Lower

Death Rates : @ Lower Life Expectancy : Higher @

3. What percentage of the world’s population lived in developing countries in 2009?
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4. How do educated women affect population growth?
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5. Since developed nations experience less population growth, dess resources are used.
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